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=it BT BF = F i th FR T B 52.900 53.330 430 i HiE TAI7Ik [R3.11.24 R6.11.24
=t AT EE =t AT R 53.400 53.600 200 E-F HiE FAI7Ih [R3.11.26 R6.11.26
=t BT BF = F i th FR T P 53.800 53.920 1200 E-F HiE F7AI7Ik [R3.11.30 R6.11.30
=t AT EE =t AT R 54.700 54.720 20 = HiE FAI7Ih [R4.4.28 R7.4.28
= AT SRR =it T S 55.3564 556.609 165 E-F HiE F7AT7I)lk [R5.4.20 R8.4.20
= tr it AT SR = ot AT E R 556.627 55.859 232 E-F HiE FAI7Ih [Rb.4.24 R8.4.24
= AT SRR =i ot T S B 56.050 56.250 2000 E-F HiE FAI7ILL [R3.7.7 R6.7.7
= tr it AT S B = ot FET E B 57.115 57.300 185 k- HiE FAIT7Ik [R3.12.3 R6.12.3
= AT SRR =i ot T S B 57.300 57.500 2000 E-F HiE FAT7Ib [R3.12.7 R6.12.7
= tr it AT SR = ot FET E B 57.500 57.700 200 E-F HiE FAI7Ih [R44.14 R7.4.14
= AT SR =it T S 58.300 58.680 380 E-F HiE FAT7Ib [R4.2.12 R7.2.12
= tr it AT SR =t it FRET 5 it 58.900 59.340 440 E-F HiE FAI7Ih [R3.12.13 R6.12.13
=fFr ) IET AR | =fFmdt)IET A | 67.160 67.760 600 E-F HiE FAI7ILk [R4.2.1 R7.2.1
=i )BT EE S =fFmd) AT A 67.750 68.191 441 E-F HiE FAI7Ih [R41.14 R7.1.14
=fFm )BT AR | =fFmdt)IET A | 68.650 69.000 350 T HiE FAT7Ik [R4.2.15 R7.2.15
=i ) IETEE S =) AT A 68.720 69.000 280 i HiE FAIT7Ih [R4.2.17 R7.2.17
=i AT/ \ =FmHFIIE4IZH 69.740 70.102 362 i HiE FAT7Ib [R3.6.14 R6.6.14
=i )7/ \ =IO H 69.756 70.102 346 T HiE FAI7I)h [R3.6.14 R6.6.13
=sFmF AT =sFm )Tt 71.300 71.780 480) E-F HiE FAI7ILh [R3.6.8 R6.6.8
=BT Al =BT RS 71.800 72.200 400 E-F HiE FAI7Ib [R312.17 R6.12.17
=i )IET RS =fFmIt)IETRES 72.200 72.301 101] E-F HiE FAI7Ih [R411.11 R7.11.11
=BT RS =BT RS 72.313 72.500 187 E-F HiE FAI7Ih [R411.15 R7.11.15
ZEFmFIIE T RR ZFHFIET RS 72.558 73.100 542] E-F HiE FAI7Ik [R411.22 R7.11.22
= FERR A L LET A5 = I ERER A K LET N5 73.130 73.270 140 E-F HiE FAT7ILh [R4.2.7 R7.2.7
=S AR A LLET NS = ST AR A L LBT N5 75.880 76.021 141 E-F HiE FAT7Ib [R4.114 R7.11.4
= AR A L LET A5 = FERER A K LET N5 76.023 76.180 157] E-F HiE FAIT7Ih [R4.2.23 R7.2.23
= AR A LLET AN = ST AR A L LT N5 76.250 76.300 50| E-F HiE FAT7Ib [R4.2.23 R7.2.23
= FERR A L LET A5 = I ERER A K LET N5 76.340 76.560 220 = HiE FAI7Ih [R4.2.21 R7.2.21
=S AR A LLET NS = ST AR A L LT N5 76.390 76.450 60 i HiE FAT7Ib [R4.2.21 R7.2.21
= AR A L LET A5 = HFERER A K LET N5 76.490 76.550 60 i HiE FAI7Ih [R4.2.21 R7.2.21
= AR A LLET NS = ST AR A L LT N5 76.835 77.025 190 E-F HiE FAT7Ilb [Rb.2.24 R8.2.24
= FERR A L LET A5 = FERER A K LET N5 76.807 76.932 125 L ] F ATk [R5.2.13 R8.2.13
= AR A LLET NS = ST AR A L LT N5 76.807 76.947 140 T 8 FAT7Ilk [R5.2.15 R8.2.15
EREOLEHTFH EFAOLEMTHH 82.950 83.5650 600 kT HiE F7AI7 Ik [R3.10.28 R6.10.28
ZEHDLEHHH EEHOLERTFH 83.620 83.950 330 ETF HiE F7AI7Ik [R3.10.28 R6.10.28
EHRMOLEHTFH EFAOLEMHH 84.310 856.020 7101 kT HiE FAI7Ih [R4.2.28 R7.2.28
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EEROAEHTXH EEEROHETRTYH 84970 85.190 220 S HiE TAT7ILE [R3.10.28 R6.10.28
EEEDOAHEHTH-H EEOHEHTHH 85.025 85.580 555 + B FAT7IUk |R6.3.31 R9.3.31
EEROAEHTXH EEEROHETRTYH 85.200 85.580 380 ~ HiE TAIT7ILE [R6.3.31 R9.3.31
EEERDOAHETHTH-H EEOHEHTEH 86.780 87.690 910 T HiE FTAT7ILL |[R4.2.28 R7.2.28




